A=y 5 gFoR 4
@ y=-3x*-4

o,
okt



@ x>0 2 o, x & grol S7Fsd y o F= S71ei
® yo] gt Hel=(y |y > —4) o]t}









5.

ohg olAg40] TR FolA Al 2 ALRHE AU ghe 727
@ y=2x+1)2-3 ®y=—%(x—3)2+6
@ y=(x-4)2+5

@ y=-3(x-1)2+2
© y:g(x+2)2+9



22 oAty = a(x+ p)? —q & A =Zoltt a, p,q O] 55
Z¥z} 469
yll
oN =
D a>0,p<0,g<0 @ a>0,p>0,g<0
® a>0,p>0,g>0 @ a<0,p<0,g>0

® a<0,p>0,g<0



1%

b

4y =262 4+ 8x +4 ] T T7} AR P AFRH L9

O A1 AHEH @ A2, 3AEA O A 3AEH

@ A 4 AFEH ® A 3, 4 AFEH



the 782 oW o]|3H20] T me] 9
HBo] AAA U7t Aolt}, o] o|a}pgr4=9]
a#=I A (5, a) B AY W, 0 9 L
Totoiet,

", \
)
1o
\ )
)
)

2 e

J]//[

0] J 4T

\




@ y=-5x>—4dx+1

=

5'7

YR
5'7



